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PROBLEMS*

1. In the following triangle, label the sides (op-
posite, hypotenuse, and adjacent) with respect

lo angle a.

. O]

2. In the following triangle, complete the appro-

priale ratios,
sing =
cos g =
lan g =

3

X
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¥

3. Using Table B-1, find the following.
sin 30° cos 30° tan 40°
sin 60° cos 60° tan 60°
4. In the following triangle, find the value of
_angle a.

10 in 7in

5. If angle a is 20 deprees and side 4 is 10 inches
long, find sides B, and C and angle b.

*Preparcd by Jim Richards, Indians University, 1979,

6.

T.

11.

12.

13.

APPENDIXES 413

Find the two unknown sides and one unknown
angle in the following triangle.

5/ see

30" M

A woman walks B miles eust, wrns left, and
walks 16 miles north. What is her resultant
displacement?

The side of a mountain makes a 20-degree
angle with the horizontal. Il & man walks |
mile up the mountain, how much has he in-
creased his elevation?

. A football is kicked with a resultant velocity

of 12 m/sec at a 20-degree angle 1o the
ground. What are the horizontal and vertical
components of the velocity?

. Without using trigonometric funclions, deter-

mine the length of the hypolenuse (also called
the resultant side) in the following triangle.

5t

& ft

A man walks 36 km eust and then 10.4 km
north. What is his resultant displacement?
An automobile travels on a road 50 degrees
north of east. If the car goes 17 miles, what
are the north and east components of the dis-
placement? ;

The side of 2 mountain makes a 30-degree
angle with the horizonial surface of the earth.
IT a man walks 2 miles up the mountin side,
what is his vertical elevation above the honi-
zontal surface?



TABLE VA1

TRIGONOMETRIC FUNCTIONS

rRadian Degree 5Sine Cosine Tangent Radian Degree Sine Cosine Tangent
000 0 0.0000 1.0000 0.0000 803 46 07193 06947 1.0355
07 1 0.0175 09998 0.0175 820 47 0.7314 06820 1.07%4
035 2 0.0349 09994 0.0349 838 48 07431 06691 17706
052 3 0.05€3 09985 0.0524 835 49 0.7547 06561  1.1504
070 4 0.0698 0.9976 0.0699 B73 50 07660 06428 11978
087 a3 00872 09962 00875 B0 51 07771 06293 1.9340
05 ] 01045 09945 0.1051 508 52 0.7880 06157 19799
A9e T 01219 09925 (.19298 525 53 0.7986 06018 13270
40 B 0.1392 09903 0.1405 542 54 0.B090 05878 13764
A57 9 01564 0.9877 0.1584 P&0 55 0.8192 05736  1.4%9R1
A75 10 01736 09848 0.1763 9 56 0.BZ90 (05592 1.4B26
62 11 01908 09816 0.1944 9495 57 0.B387 05446  1.5399
209 12 02079 05781 0.2120 1.012 58 0.8480 05899  1.6003
297 13 02950 09744 0.2309 1.030 59 0.B572 05150 1.6043
L4 14 082419 09703 0.2493 1.047 60 0.8660 05000 1.7321
268 15 09588 09659 0.2679 1.065 &1 08746 04848 1.8040
g7 16 09756 09613 09867 1.082 62 08829 04695 1.8807
297 17 09924 09563 03057 1.100 63 08910 04540 1.9626
24 18 03090 09511 0.3249 1.117 64 0.B98E8 04384 20503
332 1% 03256 09455 03443 1.134 65 00063 04296 27445
349 20 03420 09397 03640 1152 66 09135 04067 2.2460
367 21 03584 05336 0.3839 1.169 67 (09205 03907 23559
384 2y 03746 09272 04040 1187 68 09272 03746 24731
A %3 0.3907 09205 04245 1.204 6% 09336 03584 26057
418 24 04067 09135 04452 1992 70 09397 03420 27475
436 5 04296 09063 04663 1.239 71 09455 03256 29042
AS4 26 0.43B4 0B9EB 04877 1.257 T2 09511 03090 3.0777
471 97 04540 08910 0.5095 1.874 73 09563 02924 39709
489 28 04695 08829 05317 1.2¢% 74 09613 02756  3.4B74
506 e 04848 08746 (.3543 1.309 - 09659 02588 3.7321
504 30 0.5000 08660 05774 1.326 76 08703 082419 40108
541 21 05150 0.8572 0.6009 1.344 77 09744 0829250 43315
559 32 05999 0.B480 0.6249 1361 78 09781 02079 4.7046
276 33 05446 0.B387 0.6404 1379 e 09816 01908 51446
593 34 0.5502 0B290 0.6745 1.396 BO DOB4B 01736 5.6713
611 35 05736 08192 0.7002 1474 B1 09877 01564 63138
628 36 0.5878 0.B0%0 079265 1431 B2 009903 01362 71134
B46 3 0.6018 07986 07536 1440 B3 D9EEs D119 B.1443
663 38 0.6157 07880 0.7813 1.466 B4 09945 01045 05144
£81 a9 06203 07771 0.8098 1.484 BS 09962 0.0872 1143
£58 40 06498 07660 0831 1.501 86 09976 00698 14.30
Al 41 0.6561 07547 0.B693 1518 &7 09986 00523 19.08
733 42 0.6691 07431 09004 1536 EBE 09994 00340 92864
751 43 06820 07314 09325 1553 89 D9998 00175 5729
768 4 06947 07193 09657 157 20 1.0000 0.0000 o«
.785 45 . 07071 07071 1.0000
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